A & 0l & AHSH Z Ml A
20238 =04t A 2SHIISSEH &
FA ARSI
o YASS ASI0I(ABI=X/IIZLERT)
Cel: MASE o220 N (A220II2=L3H) (c19): M2l)
SA B BRAEH) - HRAY - BAS ofl &ty T HIDE2
At2 S X 1t 5,121,576 5,509,963 388,387
= 469,740
== 82,345
Al 4,569,491
MNASSE A8=80¢ 5,013,576 5,209,507 195,931
= 469,740
< 82,345
Al 4,461,491
MNASS 8280 NA(ASS0IISSE3H) 5,013,576 5,209,507 195,931
= 469,740
== 82,345
Al 4,461,491
S220HIE AI2R8s ER 4,426,401 4,426,401 0
308 AHXIHMS0IH 4,426,401 4,426,401
07 AXEH2ARES 4,426,401 4,426,401
OQz=0 A=H| Al £E3
4,426,401,0002 14| 4,426,401
2SS HAIHEl X1 85,882 89,405 A3,523
= 68,706
< 17,176
201 Zer=2dd| 47,877 51,400 A3,523
= 38,302
= 9,575
01 At 22l I 36,400 36,400 0
OYLBtLgH| ZoUH A
36,000,000 * 14! 36,000
= 28,800
= 7,200
02230 ya2s 22
100,000& 2 »23] 400
= 320
S 80
02 S3=4Hl 11,477 15,000 A3,523
Oogs0 2NAes 282 2502
11,477,000 * 14| 11,477
= 9,182
=S 2,295
202 044 28,005 28,005 0
= 22,404
< 5,601
01 =UWKHI 28,005 28,005 0
O2230 gF=4 ol
14,165,000 * 14! 14,165
= 11,332




2A:

Atz = X 1

M MASS A280 (ARSI ZLEELY)
Cel: MASE o220 N (A220II2=L3H) (c19): M2l)
SA B BRAEH) - HRAY - BAS ofl &ty T HIDE2
= 2,833
OABS0IREIA LREX BHOHY|
20,0002 x 132 x4 » 122 12,480
= 9,984
S 2,496
Ozt 2eIAt RFA 22/0|
85,0002 %162 1,360
= 1,088
< 272
301 Let2d= 10,000 10,000 0
= 8,000
= 2,000
14 J|Et2 &= 10,000 10,000 0
ORZ0E £8 S SHET MDA
10,000,000 * 14} 10,000
= 8,000
== 2,000
ZOoHel 27101 XI& 158,518 350,926 A192,408
= 126,814
= 20,608
Al 11,096
307 212t01 & 158,518 350,926 A192,408
= 126,814
[ 20,608
Al 11,096
01 A=<= 158,518 350,926 A192,408
OOl BEI17| S04H] X
158,518,000 14 158,518
= 126,814
[ 20,608
Al 11,096
ZeRgazss A 342,775 342,775 0
= 274,220
< 44,561
Al 23,994
307 212t01 & 342,775 342,775 0
= 274,220
=S 44,561
Al 23,994
01 Y=< 7=H 342,775 342,775 0
O, 2aRgEa2 N S
342,775,000 x14] 342,775
= 274,220
=S 44,561




SN AEIS T
M MASS A280 (ARSI ZLEELY)
cHel: HASE 02200 N (AZS0IIBSHIH) (cre): 2igl)
SA B BRAEH) - HRAY - BAS ofl &ty T HIDE2
| 1] Al 23,994
HWRES(A2S0IISSESAH) 108,000 108,000 0
BEXE(SSHIISEES) 108,000 108,000 0
BEINE(UZESIIZELSA) 108,000 108,000 0
802 gtet=JIE 108,000 108,000 0
03 JIEtEtE =SS 108,000 108,000 0
Oflzg0 RIS U=
108,000,000 *14] 108,000




